

No: 06-04-10-PMU/BOR/2016/4000 BOARD OF REVENUE SINDH PROJECT MANAGEMENT UNIT

Karachi, dated April

2016

To,

The Director (CB),

Sindh Public Procurement Regulatory Authority,

Government of Sindh,

Karachi.

SUBJECT:

ADVERTISEMENT OF BID EVALUATION REPORT FOR THE TENDER NAMELY "RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB" PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO. 1085/16 DATED: 24-03-2016 UNDER THE SCHEME LARMIS OF BOR

SINDH

I am directed to state that the bidding process for procurement of subject tender has been finalized by the Procurement Committee, in its meeting held at 3:00 PM on 25-04-2016 under the Chairmanship of Project Director PMU, Board of Revenue, Sindh.

The Bid Evaluation Report is accordingly prepared in the standard format and is hereby forwarded under Rule 45 of the Sindh Public Procurement Rules 2010 for hoisting on website of the Authority.

ASSISTANT DIRECTOR P/CM LARMIS, PMU

Copy is submitted for information to:

- 1. The Additional Chief Secretary (Dev.), P&D Department, Government of Sindh.
- 2. The Member (R&S), Board of Revenue, Government of Sindh.
- 3. The Project Director, PMU, R&S Wing, Board of Revenue, Sindh.
- 4. The Deputy Director F&A, PMU, Board of Revenue, Sindh
- 5. The Deputy Director, PRC, Board of Revenue, Sindh
- 6. The Deputy Director IT, PMU, Board of Revenue, Sindh
- 7. The Network Administrator PMU, Board of Revenue, Sindh, with a request to hoist the BER on the website of PMU, i.e. www.sindhlarmis.gos.pk
- 8. The participating bidders (All)
- 9. The P.S. to Senior Member, Board of Revenue, Sindh.

ASSISTANT DIRECTOR P/CM LARMIS, PMU

Bid Evaluation Report

1		
1. Name of Procuring Agency:	Project Management Unit, Reforms Wing & Special Cell, Board of	f Revenue Sindh
2. Tender Reference No:	Sr. No. 27133 Dated: 15-03-2016	./
Tender Description/Name of	"RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDI	NG HYDERABAD
work/item:	FOR ESTABLISHMENT OF DATA ENTRY LAB"	
4. Method of Procurement:	Single Stage – One Envelope Procedure of SPP Rules 2010	
5. Tender Published:	24 TH March 2016 in Dawn, Jang & Kawish & SPPRA Website at S	. No. 27133
6. Total Bid documents Sold:	One (01)	
7. Total Bids Received:	One (01)	
8. Technical Bid Opening date:	N/A	
9. No. of bid(s) technically qualified:	N/A	
10. Bid(s) rejected:	None	=
11. Financial Bid Opening date:	12 TH April 2016	/

12. Bid Evaluation Report:

S. No.	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
1	Technology Manpower Associates	7,998,540	1 st	Lowest	The bid was found financially comparable with prevailing market rates and also technically responsive/ compliant.	The bid of the firm was recommended for award of contract to the competent authority.

(Faraz Ahmad)

Deputy Director (IT) - PMU, Reforms Wing & Special Cell,

Board of Revenue, Sindh/Member

(Abdul Qadir Shaikh)

Executive Engineer, Building Division,

Works & Services Department, Govt. of Sindh

/Member

Project Director PMU
Board of Revenue, Sindh/
Chairman Procurement Committee

COST COMPARATIVE STATEMENT

IN RESPECT OF TENDER NAMELY

"RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB" UNDER THE SCHEME LARMIS UNDER SPP RULES 2010

MARKET COMPARISON		ARKET COMPARISON SINGLE BIDDER	
M/s. Fast Sign Services	M/s. Valiant Enterprises	M/s. Technology Manpower Associates	
Rs.8,177,054	Rs.8,632,039	Rs.7,998,540	Rs.8,000,000

(Faraz Ahmad)

Deputy Director (IT) - PMU, Reforms Wing & Special Cell, Board of Revenue, Sindh/Member (Abdul Qadir Shaikh)

Executive Engineer, Building Division, Works & Services Department, Govt. of Sindh

/Member

(Syed Aijaz Ali Shah) Project Director PMU

Board of Revenue, Sindh/Chairman Procurement Committee



PROJECT MANAGEMENT UNIT BOARD OF REVENUE SINDH

SUBJECT:

MINUTES OF THE MEETING OF PROCUREMENT COMMITTEE HELD ON 27-04-2016 FOR THE TENDER NAEMELY "RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB" PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 ON 24-03-2016 UNDER THE SCHEME LARMIS

A meeting of Procurement Committee was held at 3:00 PM on 27-04-2016 in Committee room of PMU, Board of Revenue, Sindh under chairmanship of the Project Director PMU, B.O.R Sindh to discuss the agenda items including evaluation and decision for award of contract for the subject tender through Single Stage One Envelope Procedure under SPP Rules 2010. List of participants is attached at Annexure-"A".

Following agenda items were discussed in detail and decisions thereupon were

taken as under:

AGENDA ITEM NO.01: FINALIZATION OF DECISION OF PROCUREMENT COMMITTEE REGARDING
COMPARISON OF RATES OF SINGLE BIDDER WITH MARKET PRICE (RULE 48 OF SPP RULES 2010)

As per decision of the Committee in its meeting held on 12-04-2016, the Sub-Committee evaluated technical compliance of the single bidder and found it compliant. Technical evaluation sheets were signed by Sub-Committee (Annexure-B), Individual Evaluation Sheets of Procurement Committee (Annexure-C) and their Consolidated Evaluation Sheet (Annexure-D) were also signed. The quotations invited by Sub-Committee through below given two firms which were found higher as analyzed below. The Committee reviewed the procurement proceedings and evaluated the market assessment made by the technical sub-Committee. The Committee noted that the rates of M/s. Technology Manpower Associates were found lower in comparison to other vendors as per market assessment which is comparatively listed below:

MARKET COM	SINGLE BIDDER	
M/s. Fast Sign Services	M/s. Valiant Enterprises	M/s. Technology Manpower Associates
Rs.8,177,054	Rs.8,632,039	Rs.7,998,540

<u>Decision:</u> In the light of assessment conducted by Sub-Committee for technical compliance and comparison of rates of M/s. Technology Manpower Associates with prevailing market rates, the Procurement Committee declared the bid of M/s. Technology Manpower Associates comparable with market prices and recommended the same for award of work under Rule 48 of SPP Rules 2010.

Meeting ended with a vote of thanks to and from the chair.

(Faraz Ahmad)

Deputy Director (IT) - PMU, Reforms Wing & Special Cell, Board of Revenue, Sindh/Member (Abdul Qadir Shaikh)

Executive Engineer, Building Division,
Works & Services Department, Govt. of Sindh

/Member

(Syed Aijaz Ali Shah)

Project Director PMU

Board of Revenue, Sindh/Chairman Procurement Committee

LIST OF PARTICIPANTS

A

MEETING OF PROCUREMENT COMMITTEE

FOR OPENING OF BIDS FOR TENDER NAMELY

"RENOVATION OF ÖFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB" UNDER THE SCHEME LARMIS HELD ON 27-04-2016 AT 03:00 P.M, AT PMU REVENUE HOUSE, CLIFTON, KARACHI AT 3:00 PM

NIT PUBLISHED VIDE INF KRY No. 1085/16 DATED: 24-03-2016

S.No.	<u>Name</u>	<u>Designation</u>	Signature				
	PROCUREMENT COMMITTEE						
1	Syed Aijaz Ali Shah	Project Director PMU	<u>In-Chair</u>				
2	Faraz Ahmad	Deputy Director IT, PMU, Board of Revenue Sindh					
3	ABOUL OADIN	Executive Engineer, Works & Services Department, Govt. of Sindh	mund				
		PARTICIPATING FIRMS	. 0				
	Zahid Soome	Technology Manfaner Assent	Jul				
		,					
		·					

CONSOLIDATED EVALUATION SHEET OF TECHNICAL PROPOSAL OF FIRMS FOR THE TENDER "RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR

ESTABLISHMENT OF DATA ENTRY LAB"

PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 DATED: 24-3-2016 UNDER THE SCHEME LARMIS OF BOR SINDH BY TECHNICAL SUB-COMMITTEE OF PMU

NAME OF FIRM

M/s.Technology Manpower Associates

S.No.	Criteria	Compliant	Non- Compliant
1	05 Year in Civil Work Business (Attach certificate of incorporation)	\	
2	Registration with Pakistan Engineering Council	✓	
3	Average turnover of 10 million in Civil Work Business during last 3 years (attach audited financial statements)	✓	
4	Completed at least 03 projects/works of civil works (including civil, electrical, mechanical, plumbing, aluminum work, etc., in public sector OR Completed at least 06 projects of similar nature in private sector. (attach successful completion certificate)	√	
5	Having certified Civil Engineers (at least 01) on company payroll for at least last 01 year proposed (attach certificates and payroll)	√	
6	Compliance of proposed construction schedule as per requirement (attach affidavit on stamp paper)	1	
7	Bid quoted for complete package	√ .	
8	Bid Security Submitted	✓	
9	Document Fee Submitted	~	
10	Compliant/Non-Compliant	√	

Assistant Director P/CM
LARMIS PMU

Network administrator

Assistant Director Electrical LARMIS, PMU

"RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB"

PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 DATED: 24-3-2016 UNDER THE SCHEME LARMIS OF BOR SINDH

BY PROCUREMENT COMMITTEE

NAME OF FIRM

M/s.Technology Manpower Associates

S.No.	Criteria	Compliant	Non- Compliant
1	05 Year in Civil Work Business (Attach certificate of incorporation)	✓	372
2	Registration with Pakistan Engineering Council	√	
3	Average turnover of 10 million in Civil Work Business during last 3 years (attach audited financial statements)	1	
4	Completed at least 03 projects/works of civil works (including civil, electrical, mechanical, plumbing, aluminum work, etc., in public sector OR Completed at least 06 projects of similar nature in private sector. (attach successful completion certificate)	√	
5	Having certified Civil Engineers (at least 01) on company payroll for at least last 01 year proposed (attach certificates and payroll)	√	
6	Compliance of proposed construction schedule as per requirement (attach affidavit on stamp paper)	√	
7	Bid quoted for complete package	✓·	
8	Bid Security Submitted	~	
9	Document Fee Submitted	✓	
10	Compliant/Non-Compliant	√	

(Abdul Qadir Shaikh)

Executive Engineer,

Building Division,

Works & Services Department, Govt. of Sindh

/Member

"RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB"

PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 DATED: 24-3-2016 UNDER THE SCHEME LARMIS OF BOR SINDH BY PROCUREMENT COMMITTEE

NAME OF FIRM

M/s.Technology Manpower Associates

S.No.	Criteria	Compliant	Non- Compliant
1	05 Year in Civil Work Business (Attach certificate of incorporation)	√	
2	Registration with Pakistan Engineering Council	✓	
3	Average turnover of 10 million in Civil Work Business during last 3 years (attach audited financial statements)	√	
4	Completed at least 03 projects/works of civil works (including civil, electrical, mechanical, plumbing, aluminum work, etc., in public sector OR Completed at least 06 projects of similar nature in private sector. (attach successful completion certificate)	√	
5	Having certified Civil Engineers (at least 01) on company payroll for at least last 01 year proposed (attach certificates and payroll)	√	
6	Compliance of proposed construction schedule as per requirement (attach affidavit on stamp paper)	√	
7	Bid quoted for complete package	✓	
8	Bid Security Submitted	√	
9	Document Fee Submitted	√	
10	Compliant/Non-Compliant	√	

(Faraz Ahmad)

Deputy Director (IT) - PMU, Reforms Wing & Special Cell, Board of Revenue, Sindh/Member

"RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR

ESTABLISHMENT OF DATA ENTRY LAB"

PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 DATED: 24-3-2016 UNDER THE SCHEME LARMIS OF BOR SINDH BY PROCUREMENT COMMITTEE

NAME OF FIRM

M/s.Technology Manpower Associates

S.No.	Criteria	Compliant	Non- Compliant
1	05 Year in Civil Work Business (Attach certificate of incorporation)	√	
2	Registration with Pakistan Engineering Council	√	
3	Average turnover of 10 million in Civil Work Business during last 3 years (attach audited financial statements)	√	
4	Completed at least 03 projects/works of civil works (including civil, electrical, mechanical, plumbing, aluminum work, etc., in public sector OR Completed at least 06 projects of similar nature in private sector. (attach successful completion certificate)	√	
5	Having certified Civil Engineers (at least 01) on company payroll for at least last 01 year proposed (attach certificates and payroll)	√	
6	Compliance of proposed construction schedule as per requirement (attach affidavit on stamp paper)	✓	
7	Bid quoted for complete package	√	
8	Bid Security Submitted	V	
9	Document Fee Submitted	/	
10	Compliant/Non-Compliant	✓	

(Syed Aijaz Ali Shah)
Project Director PMU
Board of Revenue, Sindh/

Chairman Procurement Committee

CONSOLIDATED EVALUATION SHEET OF TECHNICAL PROPOSAL OF FIRMS FOR THE TENDER NAMELY "RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR

ESTABLISHMENT OF DATA ENTRY LAB"

PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 DATED: 24-3-2016 UNDER THE SCHEME LARMIS OF BOR SINDH BY PROCUREMENT COMMITTEE

NAME OF FIRM

M/s.Technology Manpower Associates

S.No.	Criteria	Compliant	Non- Compliant
1	05 Year in Civil Work Business (Attach certificate of incorporation)	√	
2	Registration with Pakistan Engineering Council	✓	
3	Average turnover of 10 million in Civil Work Business during last 3 years (attach audited financial statements)	✓	
4	Completed at least 03 projects/works of civil works (including civil, electrical, mechanical, plumbing, aluminum work, etc., in public sector OR Completed at least 06 projects of similar nature in private sector. (attach successful completion certificate)	✓	
5	Having certified Civil Engineers (at least 01) on company payroll for at least last 01 year proposed (attach certificates and payroll)	√	
6	Compliance of proposed construction schedule as per requirement (attach affidavit on stamp paper)	√	
7	Bid quoted for complete package	√	
8	Bid Security Submitted	/	
9	Document Fee Submitted		
10	Compliant/Non-Compliant	√	

(Faraz Ahmad)

Deputy Director (IT) - PMU, Reforms Wing & Special Cell, Board of Revenue, Sindh/Member (Abdul Qadir Shaikh)

Executive Engineer, Building Division,

Works & Services Department, Govt. of Sindh

/Member

(Syect Aijaz Ali Shah)
Project Director PMU
Board of Revenue, Sindh/
Chairman Procurement Committee



Valiant Enterprises

15⁺¹ April, 2016

To,

The Project Director PMU, Board of Revenue, Sindh

SUBJECT:

QUOTATION FOR RENOVATION WORK AT HYDERABAD

With reference to your request, please find our quotation here as under for the requisite work as per BOQ provided:

Sr.No	Description	Qty	Unit	Unit Rate	Total Price
1	Dismantling	1400	sqft	14	19600
2	Excavation	2520	cft	28	70560
3	laying of 1:4:8	1825	sqft	21	38325
4	laying of lean concrete 1:3:6	900	sqft	21	18900
5	Fabricating of mild steel	10	M.ton	105	1050
6	Form work	19000	sqft	45	855000
7	masonry work	4000	sqft	23	92000
8	applying of single plaster	5500	sqft	16	88000
9	applying of double plaster	10000	sqft	16	160000
10	fixing of tile with bond	2250	sqft	45	101250
11	applying of 3 subsequently coat of color	11000	sqft	13	143000
12	Fixing of fall ceiling	2600	sqft	36	93600
13	Fixing of aluminum channels	600	sqft	310	186000
14	fixing of aluminum chokhat	50	rft	30	1500
15	fixing of woden door	27	sqft	42	1134
16	fixing of marble with polishing	1100	sqft	41	45100
17	Topping	1000	sqft	28	28000
18	labour on wooden Data entry operators table	270	sqft	655	176850
19	labour on Electric work	1	1 job	160000	160000
20	labour on sanitary work	1	1 job	95000	95000
21	Supply of cement	800	bags	760	608000
22	supply of sand	7000	cft	21	147000
23	supply of crush	3000	cft	65	195000

Address: 43/2 Block 7/8 Karchi Administrative Housing Society, Karachi Phone: 0333-3373063

E.mail valiant.enterprises@yahoo.com



Sr.No	Description	Qty	Unit	Unit Rate	Total Price
24	supply of 2" pasing stone	500	cft	60	30000
25	supply of ist class bricks	40000	brick	10	400000
26	supply f mild steel	10	M.ton	130000	1300000
27	supply of dectember color	50	balti	1500	75000
28	supply of gypsum tile	2600	sqft	130	338000
29	supply of woden door with lock	27	sqft	1210	32670
30	supply of aluminium chkhat of 24SWG	50	Rft	150	7500
31	supply f marble of size 1'x2' with 1/2" thickness	2500	sqft	460	1150000
32	supply of aluminum doors and windows channels	600	sqft	1070	642000
33	supply of lasani sheets and other hard ware material for Data entry operators table.	270	sqft	1600	432000
34	supply of sanitary fittings and fixtures	1	1 job	400,000	400,000
35	supply of electric wires, switches, sockets, LED lights, fans and etc	1	1 jb	500,000	500,000
	Total			14 F (16 E)	8,632,039

FOR AND ON BEHALF OF M/S. VALIANT ENTERPRISES





FAST SIGN SERVICES

THE SOLUTION OF YOUR REQUIREMENT

3rd floor, 41/A18, Rabia City, Gulistan-e-Johar, Block-18, Karachi. Ph: 4610654 Cell: 0300-2299587

225 April, 2016

To,

The Project Director PMU, Board of Revenue, Sindh

SUBJECT:

QUOTATION FOR RENOVATION WORK AT HYDERABAD

With reference to your request, please find our quotation here as under for the requisite work as per BOQ provided:

Sr.No	Description	Qty	Unit	Unit Rate	Total Price
1	Dismantling	1400	sqft	13	18200
2	Excavation	2520	cft	27	68040
3	laying of 1:4:8	1825	sqft	21	38325
4	laying of lean concrete 1:3:6	900	sqft	21	18900
5	Fabricating of mild steel	10	M.ton	102	1020
6	Form work	19000	sqft	42	798000
7	masonry work	4000	sqft	23	92000
8	applying of single plaster	5500	sqft	16	88000
9	applying of double plaster	10000	sqft	16	160000
10	fixing of tile with bond	2250	sqft	42	94500
11	applying of 3 subsequently coat of color	11000	sqft	13	143000
12	Fixing of fall ceiling	2600	sqft	36	93600
13	Fixing of aluminum channels	600	sqft	305	183000
14	fixing of aluminum chokhat	50	rft	30	1500
15	fixing of woden door	27	sqft	42	1134
16	fixing of marble with polishing	1100	sqft	41	45100
17	Topping	1000	sqft	28	28000
18	labour on wooden Data entry operators table	270	sqft	655	176850
19	labour on Electric work	1	1 job	155000	155000
20	labour on sanitary work	1	1 job	92000	92000
21	Supply of cement	800	bags	755	604000
22	supply of sand	7000	cft	21	147000
23	supply of crush	3000	cft	65	195000
24	supply of 2" pasing stone	500	cft	55	27500
25	supply of ist class bricks	40000	brick	10	400000
26	supply f mild steel	10	M.ton	125000	1250000
	· · · · · · · · · · · · · · · · · · ·				-





Sr.No	Description	Qty	Unit	Unit Rate	Total Price
27	supply of dectember color	50	balti	1500	75000
28	supply of gypsum tile	2600	sqft	130	338000
29	supply of woden door with lock	27	sqft	1205	32535
30	supply of aluminium chkhat of 24SWG	50	Rft	120	6000
31	supply f marble of size 1'x2' with 1/2" thickness	2500	sqft	455	1137500
32	supply of aluminum doors and windows channels	600	sqft	1070	642000
33	supply of lasani sheets and other hard ware material for Data entry operators table.	270	sqft	1505	406350
34	supply of sanitary fittings and fixtures	1	1 job	210000	210000
35	supply of electric wires, switches, sockets, LED lights, fans and etc	1	1 jb	410000	410000
	Total				8,177,054

FOR AND ON BEHALF OF M/S. FAST SIGN SERVICES





PROJECT MANAGEMENT UNIT BOARD OF REVENUE SINDH

SUBJECT:

MINUTES OF THE MEETING OF PROCUREMENT COMMITTEE HELD ON 12-04-2016 FOR THE TENDER NAEMELY "RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB" PUBLISHED IN LEADING NEWSPAPERS VIDE INF KRY NO.1085/16 ON 24-03-2016 UNDER THE SCHEME LARMIS

A meeting of Procurement Committee was held at 3:30 PM on 12-04-2016 in Committee room of PMU, Board of Revenue, Sindh under chairmanship of the Project Director PMU, B.O.R Sindh to discuss the agenda items including opening, evaluation and decision for award of contract for the subject tender through Single Stage One Envelope Procedure under SPP Rules 2010. List of participants is attached at Annexure-"A".

Following agenda items were discussed in detail and decisions thereupon were

taken as under:

Agenda Item No. 01: OPENING OF BIDS

The tender was published in leading newspapers vide INF KRY NO.1085/16 dated: 24-03-2016 as well as on the website of SPPRA vide Sr. No. 27133 (Annexure-"B") through which sealed bids were invited under single Stage-One Envelope procedure under SPP Rules 2010. The NIT, RFP/bidding document and other procurement related papers were also published on the website of SPPRA as well as on the website of PMU wherein last date of submission of bids was notified as 12th April 2016 till 3:00 PM. Only One (01) firm collected & submitted its bids on 12th April 2016 by 3:00 PM namely (1) Technology Manpower Associates which was placed before the Procurement Committee for opening in the alphabetical order.

The financial proposal of single firm was placed on board for opening by the Committee for opening. The financial proposal of the firm was thereafter opened in presence of the bidder and read out aloud observing Rule 48 of SPP Rules 2010 reproduced here as under:

48. Acceptance of Bids - Even when only one bid is submitted, the bidding process may be considered valid, if the bid was advertised in accordance with rules, and prices are comparable to the prices or rates of the last awarded contract or the market prices.

S.No.	Name of Firm	Financial Bid
01	M/s. Technology Manpower Associates	7,998,540/-

<u>Decision:</u> The Procurement Committee decided to assign evaluation of technical compliance of technical proposal of the firm as per criteria and assessment of market comparability of bid quoted by Single Bidder to Technical Sub-Committee of PMU through obtaining at least three (03) quotations from authorized suppliers of items proposed by the single bidder namely M/s. Technology Manpower Associates and to finalize decision for award of contract in its next meeting fixed on Wednesday 27th April 2016 at 3:00 pm.

Meeting ended with a vote of thanks to and from the chair.

(Faraz Ahmad)

Deputy Director (IT) - PMU, Reforms Wing & Special Cell, Board of Revenue, Sindh/Member (Abdul Qadir Shaikh)

Executive Engineer, Building Division,

Works & Services Department, Govt. of Sindh

/Member

(Syed Aijaz Ali Shah) Project Director PMU

Board of Revenue, Sindh/Chairman Procurement Committee

LIST OF PARTICIPANTS

MEETING OF PROCUREMENT COMMITTEE

FOR OPENING OF BIDS FOR TENDER NAMELY

"RENOVATION OF OFFICE BUILDING AT SHAHBAZ BUILDING HYDERABAD FOR ESTABLISHMENT OF DATA ENTRY LAB" UNDER THE SCHEME LARMIS HELD ON 12-04-2016 AT 03:30 P.M, AT PMU REVENUE HOUSE, CLIFTON, KARACHI

NIT PUBLISHED VIDE INF KRY No. 1085/16 DATED: 24-03-2016

S.No.	<u>Name</u>	Designation	<u>Signature</u>
		PROCUREMENT COMMITTEE	
1	Syed Aijaz Ali Shah	Project Director PMU	<u>In-Chair</u>
2	Faraz Ahmad	Deputy Director IT, PMU, Board of Revenue Sindh	
3	ARDUL CADIN	Executive Engineer, Works & Services Department, Govt. of Sindh	lund
		PARTICIPATING FIRMS	
	Tulnich	Alasto Technology Maringo	ves Z
		V	
			,
		,	



پروجیکٹ مینجمنٹ یونٹ ریفار مزونگ اینڈ اسپیشل سیل

ير دجيك پنجنث يونث ،ريفارمز ونگ ايندُ اسيش بيل ، بوردُ آف ريو پنيومکومت سنده کواسکيم LARMIS کے تحت مندر جه یل ٹینڈر کیلنے دلیسی کی حال تمام کمینز سے SPPR 2010 کے تحت سنگل اسٹی ۔ون الویلب بذیک پروسیس کے تحت

'اسکیم LARMISکے تحت ڈیٹا انٹری لیب کے قیام کیلنے شهباز بلڈنگ حیدر آباد میں آنس بلڈنگ کی تزنین "

نوت: مفصل تعریحات نیندُ روستاویزات میں دستیاب میں جو پر د جیک مینجنٹ بونٹ ،ریفارمز ونگ ایندائیش سیل، بورڈ آف ریوینیو ، حکومت سندھ ، مصل ڈاکٹر ضیا مالدین اسپتال ، کلفٹن ، کراچی سے خریدی جاسکتی ہیں ، بولی دہندہ لاز ما سندرجہ بالاتمام مجموعی آٹھز کیلئے پیشکش جمع کرائے ،افغرادی آٹھز کیلئے پیشکشیں مستر دکردی جا کمیں گی۔

- رکیس کے حال الل بولی دہندگان پیشکش پرمزید معلومات حاصل اور بدیک وستاویزات، -/Rs.2000 (تا قابل واليي) كى وستاويزفيس بشكل ية أرور/ ويمائد وراف بحق يروجيك والريم PMU، بورة آف ر يوينيو سنده كي ادايكي يريير 8 كماري ، 6 1 0 ك دوران دفتري اوقات يعني صبح 0 0 : 9 0 بج تاشام 05:00 بع سے منگل 12 اپریل 2016 کو دن 12:00 بج تک وفتر پروجیک ڈائر بکٹر، پروجیک منجنث بونث، ريفار مز ونگ ايندُ انجيش بيل ، بور ؤ آف ريوينيو ڪومت سندھ، متصل ؤ اکثر ضياءالدين اسپتال بكفش بكراتي بون: 68-99251367-99-49- أليس: 35305586-21-99+ حاصل كر كے جيں منز يدمعلومات/ وضاحتيں بھي اي وفتر سے حاصل كى جاسكتى ہيں۔
- برنگ وستاويزات SPPRA كي ويب سائك يا PMU, BOR كي ويب سائك يعني www.sindhlarmis.gos.pk سے ڈاؤن لوڈ بھی کی جاسکتی ہیں جس کی صورت میں وستاویز فیس پیشکش کے ہمراہ جمع کرائی جاسکتی ہے ،صرف دستاویز فیس کے ساتھ جمع کرائی ٹی پیشکشیں بڑیک کے عمل میں شرکت
- مطومات كے مطابق سر بمبرلفانے ميں شينزر پيكشيں وركار ميں، پيكشوں كيلئے الل بولى و بندگان كل پيكش كى ورج كرده رقم كى 29 برسكور في بشكل ية أرؤ رافيها غرفراف ع جمراه ميكنكل اورفافض يرويوزل يرمشتل ايك سنكل انويلب منكل 12 ايريل 2016 يوقت سه پېر 3:00 بيج كويا قبل دفتر پروجيك ڈائر يكثر ، پروجيك منجنث يونث ، ريفارمز ونك ايند اليش بيل ، يورة آف ريوينيو، حكومت سنده، متصل وْاكْرْ ضياءالدين اسپتال کلفٹن کراچی ،فون: 68-9251367-21-99+/فیس:35305586-12-99+ میں جمع كرائيس، مزيدمعلومات/ وضاحت بعي اى دفتر سے حاصل كى جائتى ہے۔
- موضوعہ RFP کے مقابل پرویوزلزای ہوم یعنی منگل 12 اپریل 2016 بوقت سے پیر 03:30 بچے حاضرر بنے ك خواب شندتمام بولى د مندگان ياان ك نمائندول كى موجودگى بي پروجيك مينجنت يون، ريفار مزونگ ايند البيش بيل، بورد آف ربوينيو كومت سنده بتصل ذاكر منياء الدين اسبتال كلفتن كراجي، فون:89-21367-92-21-99/ فيكس:35305586-21-92-كيس يرو كيورمث سمیٹی کی جانب ہے کھولے جائیں گے۔
- موصول شدہ تمام پیشکشیں بڑنگ وہتاویز کے معیار، جانج پڑتال میں درج کردہ طریقہ میں کھولی اور جانچی
- بالمان المرابط المراب سندھ کی جانب سے جاری کردہ مجوز و شینڈر قارم پر پیلی کھودہ پیشکشیں آبول کی جا سمی کی ، تا ہم ضرورت کے تحت اضافى مفات منسلك كع جاسكتے بيں۔

مشروط نينذرا درخواست زيرخورنيس لائي جائے گا۔

- يروجيك منجنث يون، بورة آف رايد غيوسنده SPP رواز 2010 كردون (1) 25 ك قت ايك بيطكش يا پرویوزل کی تبولیت ہے تل کی وقت بذیک کے مل کومنسوخ کرسکا ہے۔
- رو المان ال جوازدیتے ہوئے ایک رپورٹ کی شکل میں پیکٹش کی جانج پڑتال کے نتائج کا اعلان کرے گی۔
- نوش بذا SPPR A کی ویب سائٹ یعنی www.pprasindh.gov.pk کی ویب سائٹ یعنی www.sindhlarmis.gos.pk پرجمی ملاحظه کیاجا سکتاہے۔

يروجبكث ڈائر بكثر بورذآ فريو ينوحكومت سنده

دفتر كا يته:ST-4: ريوينيو هائوس، متصل ذاكثر ضيا، الدين اسپتال كلفئن كراچي فون:82-99251367-يكس:99251373-99251367-يكس:www.sindhlarmis.gos.pk

کریشن کو کھیں نه.

المان INF-KRY:No.1085/16